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PART - A

er any four questions. Each Question carries one mark.
AnSW

1 Write the Lagrange interpolation f?@”"“' :

Ive the equation y = x + y2 subject to the condition y = 1 when x _
2. Solv : :
.~ Picard’s method.

3. Define a periodic function and find the period of sin 7x.

— ct) with any twice differentiable function
ify that u(x, t) = v(x + ct) + w(x — ct) with any twice differ
4, Veri
satisfy wave equatlon

P oisiomsin eadnemiiib bahi S o
nsform _Qf‘ a nor
5. Define Fourier Transi 14 o -
- Answer any eig e R
6. Findlogm ing Lagrange : SOl
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" o apat when the string ig ‘nitlally at regt me points at a distance
" quiibrium position an points of
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2c-x : Py
; s C<X<2¢
he distance measured from gne end. S )
PART-p
wswer any tWo questions. Each question carries 6 marks.
. Estimate the population in 1895 ang 1925 using Newton’s nmerpolaﬁoniomua
from the following table :
Year : X 1891 | 1901 | 1911 [ 1921 [ 19371
Population:y| 46 | 66 | 81 | 93 | 101
dy

% Gaen g, =¥ — X whete y(0) =2. FiRd (0.1 and 0.2) corractto foue decimal
places using Runge-Kutta fourth-order method.

of period 2x.

on f(x) =e*, -m<x<x




